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UGC-258

B.Com. (Part-II) Examination, 2021

ACCOUNTANCY & BUSINESS STATISTICS

Paper - I

(Taxation-Income Tax Law and Accounts)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3% : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I8) | Wi WY 2 3 T §|
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-9) (37 : 8 x 5 = 40)
o H ¥ R Uy % SW e (SW-HA 200 I55) | TR YT 8
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@us—a) (37 : 20 x 2 = 40)
gﬂﬁﬁﬁ?ﬁﬂ’fﬁ@ﬁiaﬁq (SR-H 500 T3 | Tk T 20 % H

|
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Section-A
(TUs-3)
1. (1) What do you mean by Assessee in Default ?
<% § HIC ¥ ST F U ¥ 2
(i) What do you mean by Perquisite ?
Y W Y M TEHI § 2
(ii1) What do you mean by Standard Rent ?
AHE foRd ¥ @9 N wEe ¥ 7
(iv) Mention name of any two fixed assets on which depreciation is allowed.
ol et & el & Am fafew 9 W g wiwa @ §
(v)  Explain the income from speculations.
TS ® 3T H THARCI
(vi)  What is Capital Gain Deposit Scheme 1988 ?
TSt o ST A 1988 FT R ?
(vil) What is Bond Washing Transaction ?
fe@med o9-37 F ¥ 2
(viii) Compute tax liability of an individual female assessee if his total income

is ¥ 2,45,000 which includes casual income of ¥ 50,000.

I =Afte Afge FHIEIT I FA A™F T 50,000 T ATHEHE 3 FI IMHA B
TT T 2,45,000 &, @ R MG I wItC

(ix) In which head salary received by partner from firm is taxable and why ?
TERR 5 WH 9 U A9 R Siee w1 S WA S § SR b ?
(x) What do you understand by estimated current income ?

ST =6 3T & o9 F1 9 § 2
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Section-B
(TUs-9)
2. From the following particulars calculate agricultural income :
Rent from agricultural land ¥ 30,000; Sale of agricultural produce ¥ 40,500;
Salary as a partner in a Tea Garden unit ¥ 30,000; Relevant expenses are

(a) purchase of seeds ¥ 5,000 (b) Labour and irrigation expense I 10,000 and

(c) depreciation on tractors tools and implements ¥ 15,000.

fAfafed faerer | HfH ™ &1 oA SIS :

FY gft § wra fwwn T 30,000; FW 3T 1 5wt T 40,000; =1 SFME H HEICR hi
¥fgaa & fgem aen aa9 T 30,000; 39 TRy B W o R T (&) W9 %A
%5,000; (&) Heigdt wE =g =g 10,000 T (H) $HI TE 379 FHiF ISR W =
% 15,000 |

3. Dr. Choudhari has prepared his Income & Expenditure Account for the year
ending on 31st March, 2020 as under :

1. =e 9 31 |1, 2020 % HE 8 9l 99 o fou A9 ™ o9 @l T YR
ERIRI

Income & Expenditure Account for the Year ended 31st March, 2020

Expenditure 4 Income 4
Salary to employees 7,800 | Consultation fee 35,700
Dispensary expenses 3,400 | Visiting fee 7,900
Household expenses 9,600 | Testing fee 2,700
Laboratory expenses 3,900 | Salary received as part time
lecturer 4,800
Donation 2,400 | Gifts from patients 1,200
Depreciation 2,000 [ Interest on securities 800
Life Insurance Premium 1,700
Surplus 22,300
53,100 53,100
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Depreciation allowable is ¥ 1,400 find taxable profits of his profession for the

assessment year 2020-21.

iehd 7@ ®i R T 1,400 ¥ 1 H-Faior ¢ 2020-21 & fow 991 § F-I0F Y Hi
iy I HifSw )

4. Sharma acquired the property in the previous year 2002-03 for ¥ 12,00,000 and
paid ¥ 45,000 as registration charges. Sharma died on 15-9-2010 and the property
was transferred to his son Manish through inheritance. The market value of the
property at that time was I 24,00,000. Manish sold property on 31-8-2019 for
% 70,00,000. Compute capital gain for the assessment year 2020-21 cost inflation

index for financial year 2002-03 was 105 while for 2010-11 it was 167.

|t F 2002-03 T @9 # T 12,00,000 H TH TEA wA w9 T 45,000 TS R T
A1 15-9-2010 1 ¥ 1 9 B TR F I8 GHAf SHH A TAG hl ITAUEHR F I
3| 39 999 §Hf @1 9K Jed T 24,00,000 A1 F7EE T 31-8-2019 w1 I wEf
%70,00,000 ® 3= <1 w-fAeRor gt 2020-21 & faw st one &t ¥ & IO
wHifse | fasia a6 2002-03 % faw @ gfs g 105 o SEfw 2010-11 % fag arm

gfg gaw® 167 o

5.  Write the names of any four exempted incomes for all types of assessees.
Tt YHR & HEm@eT & fou fF= 9" w qo A H 3o i |

6. What are the similarities in the assessment of individual and H.U.F. ?
st @R o sfawiom TRR & #-FeRe § o g § 2

7.  When does the liability for advance tax arises ? How is it computed and paid ?

310 FT 1 I Fe S B T 2 ZHHT UM qA T FRE TRR fRAn S § 2
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8.  There are three partners A, B and X in a partnership firm. Taxable income of
these partners is ¥ 25,000, ¥ 30,000 and X 40,000 in their individual assessment.
Taxable income of this firm is ¥ 2,00,000 including ¥ 80,000 long-term capital
gain. These three partners share profit and loss in the ratio of 5 : 4 : 1 respectively.
Find tax liability of the firm for the assessment year 2020-21 if this firm is
assessed as an AOP and X is a company.

T HEEr 6§ 9 "5 A, B W@ X ¥ 1 39 dH1 @l oAt sh-fAeier § s-dng
39 %HLT: 3 25,000; T 30,000 WE T 40,000 ¥ | FH *I A w-GFF 2 T 2,00,000
T o 7 80,000 1 SefeRTeA S oy off wnfae €1 3 diF1 IEeR ony-=f 1
5:4:1# e g1 H-FERe a6 202021 % fAU 39 ®H F1 X SIS A1 RIS
I 59 ®H 1 H-URY T ATHA & G & ®9 H el § AR X Th HEET S

Section—-C

(@us-—4)

9.  Shri Sanjay Banerji is a manager of a private company in Jaipur (Population 27
lakhs). He submitted the following particulars of his income for the previous

year :

(1) Net salary ¥ 60,000 after deduction of tax at source ¥ 12,000 contribution
in recognised provident fund ¥ 10,800 and rent of bungalow @ 10% of

salary.
(ii))  Dearness allowance @ I 600 p.m.
(ii1)) Bonus ¥ 9,000 p.a.
(iv)  Education allowance for two children @ 100 p.m. per child.

(v)  Commission on salary @ 10% of sales the previous year’s sales of the
company < 4,00,000.

(vi)  Entertainment allowance ¥ 600 per month.

(vii) Travelling allowance for his official tours ¥ 9,000, actual expenditure on

tour amounted to ¥ 6,000.
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(viii) Free supply of water and electricity for which employer spent ¥ 1,000 in

the previous year.
(ix) Free refreshment during office hours amounted to ¥ 800 p.m.

(x)  Person as accident insurance policy premium paid by employer amounted
T 2,000.

(xi) He resides in the bungalow of the company. Its fair rent is ¥ 4,000 p.m.
Watchman and a cook has been provided by the company at the bungalow

who are paid ¥ 400 p.m. each.

(xii) He has been provided with a motor car of 1.8 litres for his official as well
as personal use. The running and maintenance expenses including driver

salary borne by the company.

(xii1) Employer’s contribution to P.F. ¥ 18,000 and the interest credited to this
fund @ 13% p.a. amounted to ¥ 16,250.

Compute income from salaries of Shri Sanjay Banerji for the assessment year
2020-21.

o TS ISt SR (AR 27 ) H U St HEEA H YA b ug W B
I ma T & fau 9 st e w1 fefafea faere v W €

() ST T 12,000 HT STH M W F HI Hrat T 10,800 gwior wfesa fafyr |
3TOIEH 31 a9 &1 10% HhH R &t HAdt & a1 T 60,000 TS a4 & I

g4I
(i) #&TE 9= T 600 Wi ArE|
(iii) <\ T 9,000 fEF |
(iv) < s=a & fow frenm s T 100 9fd =@ wfa =i
(v) o W FHHIE 10% FEt o1 79 a6 e fawa T 4,00,000 ¥
(vi) TERSE W T 600 i HE |
(vii) @ = % 9,000 AT W FF HI g Ardias AT T 6,000 |
(viii) 3R 7@ I H R g/ T 1,000 9§ fostert w glaen §F T
(ix) ST wEEE 999 ¥ T 800 9fa AE &t X ¥ gua # Awar fon
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(x) STl AfKETG gHle wifadr st Wifgad T 2,000 e g/ e T |

(xi) o FE F TEE B A wa T e staa e 4,000 wf mw ¥z

M & Y ITH! Tk HhICR o Uh gy &1 giaen < 78 s forw Feiem
Y w1 T 400 i HIE WA T ¥

(xii) SAH 1 AIHR et emar 1.8 @il &1 © waeE a9 fst swam & fag <t
T 598 9om 9 W@-@E & 9 (A6 & 9dq 9fed) e R g8 5

T

(xiil) e 3 wfgss ffa 5 18,000 w1 i9eH fhan iR 59 ufess fafy & 13% =i
W F T 16,250 St ART =TS SAT TR 4T

fruftor = 2020-21 & foU & 959 oS &I 9a9 Y6S i ST Jd SIS |

10. Discuss the provisions of the Income-Tax Act regarding the set off and carry

forward of losses.

B T gfd TF ST o 9T & Ty § ST AUt & yraumi & foeem it |

11. A, B and C are partners in a firm sharing profits and losses in the proportion of

2 : 2 : 1 respectively. The profit and loss account for the year ended 31st March,

2020 is as follows :

Tl R uw wH H OEeR S wAE: 2020 1 B o | @y iR e @nen s

F1 31 =, 2020 # TEG g TW H AY-BA B TH TR T

Particulars 4 Particulars 4

Sundry Trade expenses 1,00,000 | Gross profit b/d 2,90,000
Interest on capital : Interest on securities 10,000

A 16,000

B 14,000

C 12,000 42,000
Rent to B 30,000
Salary to B 72,000
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Commission to C

Net profit

36,000
20,000

3,00,000

3,00,000

Compute the total income of the firm

partners. B and C are active partners.

TH I HeT T BT AT S q FH & dAH GRCRI H FRGR & €9 H -0
3™ w1 AT HifSTl B den C 9 |EeR €1

12. What do you understand by “Pay as you earn scheme” 7 State clearly the

and taxable income as partner of three

important provisions of Income-Tax Act regarding it.
‘S FETST I geErsll A W ST F TESd § 2 T TRy § oYt oifufram &
TETUl WAL HT TR AT HITST |
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